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ABHINAY MATHS CLASSES

MIXTURE AND ALLIGATION

The ratio of milk and water in a mixture is 3 : 5. We
added 10 /r water to the mixture then ratio becomes
3 : 7. Find the initial quantity of milk.

T o907 | g IR U T ST 3 : 5 ¥ T
10 ofieX ot $iR eret fan ok A erquE 3 : 7 @
TN A OURS H g Rl A fRal off?

TH odq H gy IR U 1 eruE 7 : 5 R
9 e oo fHepTereht 3T 81 UMl e T e
fagor & o SR U @7 ST9d 7 : 9 @ TEm @
YRY H g9 &1 A fohadt off?

(a) 221t (b) 171t

() 191t (d) 211t

(a) 151 (b) 121 7.  The ratio of milk and water in a mixtureis 7 : 5. We
(c) 201t ) 171t withdraw 9 It mlxture and aned same quantlty. of
. . . . . water to the mixture, then ratio becomes 1 : 1. Find
The ratio of milk and water in a mixture is 3 : 7. We the initial quantity of milk
added 10 /f water to the mixture then ratio becomes a3 JES— ' 3 =W
1 : 3. Find the initial quantity of milk. @Fﬂ?{ . kS I g}ﬂt":ﬁ 7 ﬁS?JIT Lﬁ
. 9 EUREEANECTERGEI SN A
s fagor § g SR U w1 S 3 : 7 R T 1A A 7 A e o
10 R a3k ret fean @R 3 eruE 1 : 3 @ ()33675’11 () 22.15 I ‘
s a . .
T A URA H 39 HT A fRa off?
@ 104 ®). 151 (c) 17.50 it (d) 21351t
a
8.  The ratio of milk and water\in a mixture is 3/ 1. We
(S (d)) 13 7t withdraw 6 /¢ mixture /and added same quantity of
The ratio of milk and waterin a mixture of 66 /¢is 5 water to‘the mixture, then ratio becomes /9 : 5. Find
: 6. We added 12 [t water to theimixture, then find the the initial'quantity of milk.
ratio of milk\and water. T T o GG R/ == I 3 o 1 2 =
66@??@%3‘“‘57%”@?@“%' 6 ciex s et S 3o &1 TR St fo @ ot
5 :6 21 B 12 TfieX I e fan, o7 e ST 9 ¢ 5 B TN R H g4 BT W0 feRaA o2
1 =Im? | (a) 3151t (b) 17.91t
(a) 5:8 (b) 2:4 () 125K (d) 15301
(c) 7:9 (d 1:3 9. Tl}f: ratio ofimilk gnd waterfina mixtureis 13 7 We
The ratio of milk and water in a mixture of 45 It is X:tt(rir;vi}i Onllti)gﬁ)r(:ilieinfaggdlfics)?nnef %uérzltltgh?g
4:5. We added 5 /t milk and 10 /¢ water to the mix- A ) e
. ) the initial quantity of milk:
ture, then find the ratio of milk and water. i
N & s Tk o H g9 SR UM T 3uE 13 : 7?1 B
45 e ® T e o 20 ofteX fagor fete T 3 & O e feen @
4 :5 31T 5 wlieX 39 3R 10 e i firen e, S S 3 ¢ 2 7 T A W F g
19 g SR U T STIYM T BRT? N
(@ 2:1 (b) 3:4 (@) 170 Ir (b) 18211
() 5:9 (@ 1:1 (c) 169 It (d) 185 It
The ratio of milk and water in a mixture of 80 /¢ is 10. The ratio of milk and water in a mixtureis 3 : 2. We
9:7. We added 12l It milk to the mixture, then find wi.thdraw 251t rn.ixtur e and added 15 {t water to the
2 mixture, then ratio becomes 3 : 7. Find the initial
the ratio of milk and water. quantity of milk.
80 ofiet % wh fasor # g @R UE H S TF w4 § g S O 1 ST 3 : 2 #1 FW 25
1 e IEEANII e
9 :7 % T 12— it 3y foen e, o qu s A 15 .qﬁ.mmﬁ
2 39 I 3 : 7 B WA A YR H ¥ &I AGT
3R U T STuE B et ot
(a) 23:14 (b) 30:1 (a) 22 It (b) 24 It
(c) 21:29 (d 5:7 (c) 211t (d 191
The ratio of milk and water in a mixtureis 7 : 5. We | 11.  The ratio of number of male and female in a bqs is
withdraw 9 It mixture and added same quantity of 3:1.16 passengers got down and§ females got into
water to the mixture, then ratio becomes 7 : 9. Find the bus, then ratio l?ecomes 2 : .l.. Find the total num-
the initial quantity of milk. ber of passengers in the bus initially.
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12.

13.

Th o9 | geN o Afgensi &1 ogud 3 : 1
16 It TH WIS W Sa § 3R 6 afgerd wedt
& 1 RT U 2 ¢ 1 Sar 1A g’ § feha
RIEIICY

(a) 64 (b) 59

(c) 62 (d) 63

The ratio of milk and water in a mixture is 3 : 8. We
added x It of milk to the mixture then ratio becomes

5 : 4 and we added 18 [/t water to the mixture, then
ratio becomes 4 : 5. Find the value of x.

T o H 3o R qF 1 eruE 3 : 8 ¥ e
SoH w3 foemEn @R S 5 ;4 @ T R
T 18 e UF et @ ST 4 ;5 = T
yRY H foha gy foaemen T oen?

(a) 261t (b) 251t

(c) 281t (d) 211

There is milk and water in a certain ratio in a vessel.
If we took out 16 /¢ water, then the ratio become 3 :

4. Then 35 It milk is taken out, then the ratio,be-
comes 2\: 5. Find the initial quantity of water.

T A H 3 SR O 1 ES S €1 g 16 S
Tt RTe @ ST 3 ¢ 4 @ T R e 35 SR
T feRTeT il STUI 2 : 5 2 TR YReS H qr Skt A
feRat oft?
(a) 1161t
(c) 109 It

(b) 112t
(d) 110 It

16.

17.

18.

19.

The ratio of milk and water in a mixture is 5 : 3.
How much fraction of the mixture must be drawn off
and substituted by water so that the ratio of milk and
water in the mixture becomes 1 : 1?

T W H Y AR I 1 erguE 5 : 3 ®1 fasmn
e 9mT fehTer & Sa1 € O ST e s fere
AR 1 : 1 B S 1 fha T fepten T e
The ratio of milk and water in a mixture is 11 : 7.
How much fraction of the mixture must be drawn off
and substituted by water so that the ratio of milk and
water in the mixture becomes 1 : 1?

U gy SR TR B S 11 : 7 ¥ s
o T feRtel & S & O et T S e
AR 1 : 1 B S ) fehe W et T en?
The ratio of milk and water in a mixture is 2 : 1.
How much fraction of the mixture must be drawn off
and substituted by water so that the ratio of milk and
water in the mixture becomes 5 : 3?

T A H M AR U 1 U 2 ;1 @) fas
e 9mT fehTer & Sa & U et e s, fere
AR 5 : 3 B S B TR W feRten TN o
The ratio of milk and water, in a mixture/is 5 : 2.
How much fraction of the mixture must be’drawn off
and substituted by water so that the ratio of milk and
water in the mixture'becomes 2\: 1?

T A H g SARUE 1 SuR 5 : 2 %) fas
foRa 9mT fehTar & 3a1 & O ST e s fere
A 2 ¢ 1 B S B feRa W feRten e e

14. There is a mixture of milk and water 120 /z. lth part 20.  Ayvessel cpntains 400 /t of milk. 10 /¢t of milk taken
6 out from it'and replaced by water. Then again from
of this mixture is milk. We took out 30 /t mixture and ngxture 10 It arg takep 0}1t ar.ld ep laced by, water.
added 'p' It milk to this mixture and the ratio was Find the q}lantlty of milk in thls.mlxture NORS
reversed. Then we added 'q' It water to this mixture T a9 § 400 et g4 7 10 et ECRREIC
then again the ratio was reversed. Find the value of T IA S 9 S el R e 10 ©feR
(q-p)- frsgor fepTeren a1 &1 Ol e feam @ 3EH o1
T @i W g SR U w1 fasw 120 e @ fepal qo1 == @72
1 21. A vessel contains 200 /t of milk. 20 /¢ of milk taken
ﬁlﬂﬁg ML) &1 7 30 ofiex faso e sk out from it and replaced by water. Then again from
o mixture 40 /¢t are taken out and replaced by water.
p 34 faen fen il ST TR I Find the quantity of milk in this mixture now.
B T R g et e e e @ e T add § 200 el g9 B w20 el gM
i | weet %1 3T & T A (g - p) F AT F et @R S @ UMl S R o Sus W]
& T 40 ofter fagror Febren iR S & W <T@
(a) 14401t (b) 14421t fear, @ o9 so fovae g o= 22
(c) 14391t (d) 1443 It 22. A vessel contains 400 /¢ of milk. 20 /¢ of milk taken
15. The ratio of milk and water in a mixture is 3 : 1. out from it and replaced by water. Then again from
How much fraction of the mixture must be drawn off mixture 20 /¢ are taken out and replaced by water.
and substituted by water so that the ratio of milk and Find the ratio of milk and water in the resultant mix-
water in the mixture becomes 1 : 1? ture.
T 947 § 39 IR U HT A 3 : 1 R fasm TF adt H 400 FfeX 3 ¥ T 20 R M
1 R 9 Fewmen s iR 3a & U e ) firapTen Sl a1 2t Wit ST e siR fr e 20
?ﬁ'qggngmlzlgﬁm%|faﬁmqmm X fagor frsbren 3R San & uH e e, A
T n? e g9 AR U kT ST S e
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23.

24.

25.

26.

27.

28.

A vessel contains 400 /t milk. 20 /¢t of milk was re-
placed by water and then 40 /¢ of the resultant mix-
ture was replaced by water. Find the ratio of milk
and water in resultant mixture.

Th adH H 400 X g9 Rl BEA 20 ofiet g
feRTeT 3R 3o & O < T iR R Sem 40
fiex fagon fmen ofR Sam & T e e, @
T SR YT hT SIS B2

A vessel contains 400 /t of milk. 20 /¢ of milk taken
out from it and replaced by water. Then again from
mixture 40 /¢t are taken out and replaced by water.
Then again from mixture 60 /¢ are taken out and

replaced by water. Find the ratio of milk and water
in the resultant mixture.

T o 400 <R M 21 ES B 20 Wi 3
feten 3R S & art et feEn, fRe 40 ©feR
fagor fepren @R Sa & U e e, R 60
e g fepren iR San & U S feem @
39 Y SR U hT STIIE T Y

A vessel contains 500 /t of milk. 50-/¢ of milk taken

out from it and replaced by water. Then again from 3¢,

mixture 100 /¢ are taken out and replaced by water.
Then again from mixture 125 /¢ are taken out and
replaced by water. Find the ratio of milk and water
in the resultant mixture.

Ush o H )500 e U ORI BEA 50 ofteR) qu
frpren iR 31 & W =t feam e 100 W |
frgor fepren iR Sa1 & U ST R et 125
ex fasmn faren i IaT @ T =T e b o |
T IR YT TSI FA B2

A vessel contains some /¢ of pure milk. 5 /¢ of milk

taken out from it and replaced by water. This process | 31.

is repeated once more. Then the ratio of milk and
water in the resultant mixture becomes 64 : 17. Find
the initial quantity of milk.

T 90§ FD Y ¥ 2 T 5 ol o T
HT I & AT T @ 3R 4wk A % AR
11 o o7 SEH U SR T BT S 64 : 17 B,
A URA T 3Y H A foRaAr ofi?

A vessel contains some /t of pure milk. 12 /¢t of milk
taken out from it and replaced by water. This process
is repeated three times more. Then the ratio of milk
and water in the resultant mixture becomes
16 : 65. Find the initial quantity of milk.

Th o H FF TS 39 T T 12 A 3¢
FX I & A T R o A wiwar I AR el
e I A I IHE g IR YA KT SIUd
16 : 65 %, @ YR H g K1 AGN fRa oft?

A vessel contains a mixture of O, and N,,. The quan-
tity of O, is 16% of total mixture. Some quantity of
mixture taken out from it and replaced by N,,. This
process is repeated once more. Now the quantity of
0, is 9% of total mixture. If total quantity of mix-
ture was 8 /t, then find the quantity of mixture which
is taken out.

29.

32.

33.

TF a6 # O, RN, 1 fagmr 81 et 0, &1 Amn
F AA F 16% T T fasmr F FxB AW
fprernt 3ot &1 N, THen &1, = i e < @R
1| 379 IEH a=l g8 O, 1 WEAl, g0 & e
T 6T 9% B1 A el THgor 8 et e, at =
& fopat o fashrett 8 oft?

There are two mixtures containing Gold, silver and
platinum. First mixture contains 40% platinum and
second mixture contains 26% silver. The percentage
of gold in both mixtures are same. If 150 kg of first
mixture is mixed with the 250 kg of second mixture,
then the percentage of Gold in resultant mixture is

30%. Find the quantity of platinum in the resultant
mixture.

T, i 3R wifem & < g ? weel fasor |
40% wifeT™ §, R | 26% w4 €, < fagor §
T # AT THE ¥ Al ged fasm & 150 R
1, TR g & 250 fwm = @t fien fen @1 o @
St fasmr @ SO 30% @ ¥, df fasor o
wifem ®1 qen fwat 22

Two.vesseles A and B contains acid of different con-
centration. The capacity of A and B are 6 /t/and 3 /¢
respectively. We take jout same quantity from both
vessels and put into one another , Now the concen-
tration in both vessel are same.Find the taken out
quantity.

T S-S T ¥ I fafae s @ g R
A 6l iR BH 3 efiex B e S o 4
T A R 3R TR R § et 9 e
=0T 760 SR 2 | @l foRdd effed A Rt
TE ot

There are two vessels containing 2 mixture of acid
having different concentration. A contains 8/t acid
and B contains 6 [t acid. 2x It was taken out from ves-
sel A and x I/t of mixture was taken out from vessel B
and are poured into each other and their concentation
becomes equal. Find the value of x.

) Fe-eren SdAl | i arso & fagor 1A
H 8 ofieX 3R B H 6 cfieX ¥1 B Ee @ W 2x
T P ol SR A @ x i WA fre,
HI A TH g H A Q| ST FAR T A
TR B TG A x FT HE FA B

The ratio of milk and water in two vessels having
same capacity are 2 : 3 and 5 : 4. Both are poured
into a third vessel, then find the ratio of milk and
water in third vessel.

< S H o SR g T ST 2 2 3 SR S5 x4
21 1 T AR T | Tl e @l de
¥ gY R qH T UM FA BN? AR <A S
THE HE %

The ratio of milk and water in two vessels are 3 : 5
and 4 : 7. The capacity of both vessels are in the ratio

1 : 2. Both are poured into a third vessel, then find
the ratio of milk and water in third vessel.
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2 A H H SR U HT S 3 ;5 SR 4 1 7 - — o -
%Iqﬁ'ﬁ?ﬂﬁ'ﬂlﬁ 51 | Z%Sﬁ'{?\ﬁf . ere are some milk in three vessels. 3parto the
. ! - . 1
H TH R a9 § gere e, af 39 o A first mixture is poured into second vessel. — part of
39 SR U T A ST m? 4
) ) ) the second mixture is poured into third vessel.
34. The ratio of milk and water in two vessels are 3 : 4 |
and 5 : 6. The capacity of both vessels are in the ratio — part of the third mixture is poured into first ves-
1 : 2. If the whole quantity of first vessel and half 10
. . . sel. Now all three vessels contains 9 - 9 /¢ milk, then
quantity of second vessel are poured into a third ves- find the initial ity of milk in all th )
sel, then find the ratio of milk and water in third ves- fnd the mitial quantty of mufi in atl thiree Vessels.
sel. ?ﬁ? aﬁ:ﬁ .a[ l -
%P ¥ B TEel Y- Fhew TR § e
A H gy SR a1 SHEE 3 4 SR 5 1 6 1 3
21 Al 3 2 F e H oS 1 2 B Ve e gt & P A F = e de 3
T % P qel g oA % e fason wl u 1
0§ et fen @, e w6 ¥ gy SR w6 To TR el H S feen, o A 7 9-9 e
ST A T2 fex o I 1 R F A e H fena-fenan gu1
35. The ratio of milk and water in three vessels are oq0?
2:1,1:5and 5 : 7. The capacity of all vessels are |
same. All are poured into a fourth vessel, then find | 40, There are some milk in three vessels. — part of the
the ratio of milk and water in fourth vessel. 4 )
A = g SR qE wreEEd 2 : 1,1 55,5 first mixture is poured into second'vessel. gpart of
: 7 B A S F DS ad F e R S@, @
T AadT ® M iR U S e the second mixture is poured into third vessel. ipart
36. The ratio of milk and water|in three vessels |are of the third mixture is poured into first vessel.
3/:1,4:3and 5 2. The ratio of capacity of all 1 ) ) )
vessels are in'the ratio 6 : 4 :3. All are poured into a Agalnz part of the /first mixture is poured into sec-
tfouilﬁ vessei, then find the ratio of milk and water in | ond vessel. Now all three vessels contains 6 - 6 /t milk,
ou ve.ss.e : then find the initial quantity of milk in all three ves-
A A H 3o SAE A T ST 3 1 1,4 13,5 | sels.
22 31 A FT & BT SIAA 6 ¢ 4 ¢ 3 B A A\ | ‘
1 T e ad § e e, 1 e W g ik i A %D 3 € Ted F R T A
T T ST A B 1
e o TR 9 et TR | e faan
37. The ratio of milk and water in four vessels are 1 : 2, fen %:Fli 3 i
3:2,7:3and 1 : 1. The ratio of capacity of all 5 & .
vessels are in the ratio 1 : 2 : 3 : 4. All are poured into | 11 T # oM e T § f
a fifth vessel, then find the ratio of milk and water in 1 . -
fifth vessel. Z “TehTeTehY Eﬁi 4 o feam s =i § 6 — 6
IR S H g SR U T SO 1z 2, 3 : 2, ofex g B IRy H Al adH § fRae-fha gu
7 :3,1 :1 T ST &HAT B SAG 1 :2 :3 : 4 or?
21 3R 3Tl U ied =i A Yo R 9@, @ | 41, An alloy contains zinc, copper and tin in the ratio
qad 949 39 R T T 3TU A BI? 2 :3: 1 and another contains copper, tin and lead in
38. Three vessels whose capacities are as 3 : 2 : 1 are the ratio 5: 4 : 3. If equal Welghts of both alloys.are
. . . . melted together to form a third alloy, then the weight
completely filled with milk mixed with water. The flead ke in th 1 il be ?
ratio of milk to water in the mixture of vessels are as ot lead pet g mn t ¢ nfw atloy wril be -
5:2,4:1and4: | respectively. Find the percentage uw fageng o £, HR SR feT w1 egoa e
of water in the new mixture obtained when 1/3 of 2:3:1% Tal fageg ¥ &, fo R &9 &1
first, 1/2 of second and 1/7 of the third vessel is taken IS 1 4 1 3 2 IfE TF YR el ﬁﬂﬂlﬂaﬁ
out and mixed together. _
: Tk G T S @ @ ueh g fagerg S
jqaﬁ;ﬁ; ;QE 3@:2:1%‘%?;@{&;13 B U fagerg § @ 1wl Rl WR S
kS T % AT Y g A 42. Three beakers namely A, B and C. Each contain 100
R e 3R
Sl AJU $HRT: 5 @ 2, 4 ¢ 1
4 1 BT fagor § o ey wiaewar @@ e, ml of milk — water solution. The ratio of milk to
SEfek 1/3 98 &, 1/2 1 A 1/7 TR H n
e T 3@'} 3 W@;'QT T water in the beakers A, Band Cis1:3,1 :4 and
Contact No.: 9555202436, 9716761136 5
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2 : 3 respectively. 40 ml of solution is transferred o A R B H I fago gy 3R T W@ T R
from befaker dAfto be{;ikeli Cand t}l)lankZS ml lgf Zolﬁti?n 47 A SR B T T T4 ¢ 5 2 Safw = A
1stran§erre .ro¥n eaker C to beaker B. Find the fi- BﬁIBﬁqﬁfaﬁﬂﬁTW 8:9%I?3I'5’ %gq
nal ratio of milk in the beakers A, B and C. . d )
: foh Tk o H T T F 60% IR 80% b i H
T R 5 T A, B SR C 31 T&® § 100 3 @ T & ,
| | Y 1 FEAl A B
47. Three vessels whose capacities are as 5 : 3 : 2 are
feft-eitet g9 IR— UMt o1 faerdd €1 e
T i m ¥ A.B completely filled with milk mixed with water. The
At cH L) T 9 =T A 1 23,1 : 4 X ratio of milk to water in the mixture of vessels are as
231 AT e e |22 ]l e
CH #ir C @%28 - aﬁjﬁ first, 1/2 of second and 2/3rd of the third vessel is
B ¥ erel T St €1 7=d  ’iehi A, B, 3R CH 3¢ taken out and mixed together.
1 ST 2 T e o s 5 : 3 2 ¥ S T e ¥

43. Ajar contains a mixture of two liquids A and B in the ¥ R Ut & fagor 9 W T 2 I ad9 | ¥
ratio 3 : 1 . When 15 /¢ of the mixture is taken out and R Tt ST HE: 3 12,2 ;1 @R 3 e
9 It of liquid B is poured into the jar, the ratio be- . T )

_ o . 21 T fagon & wrt )t giaeaar 99w, S@fw 13
comes 3 : 4. How many /¢ of liquid A was contained
in the jar initially? e P, 1/2 TR H AR 2/3 AR 1 b B
T o o 3 Fa A SR BT WA 3 ¢ 1 B T g A e fen
T 15 oftex fagor see fyeTen R 9 efiet 5a B | 48.  25% of a solution containing 20%. petrol, 50% die-
F a\F =@ A T SR U ST 3 4 A sel and 30% kerosene was, replaced with kerosene.
F = Srt 2 ’ Now, 2/3 of the solution/obtained in the previous step
Y S T F Il ’ was replaced with petrol. What is the pere¢entage of

44. Three glass.es of sizes 3 (t, 41t anq 5 It containt mix- diesel in this new solution?

T rd e a3 3T| w w o v 8, 20 e
a single vessel. Find the ratio of sprit and water in | 2 & 25% I H o fem
resultant mixture. S B 31E 39 foe@E % 2/3 W i W2 | W5
Eﬁqﬁmﬁmﬁm3§ﬁz{’4§ﬂaaﬁ'{5§ﬁal fean ST 21 7 e o <ol w1 Wiasiadl 7 w2
2 foe R et & fago § | 3T 2 et gaa 49. A housewife has 1 I of solution that contains milk
FEI: 2 3.3 27 3R 4 ¢ 11 21 gt = fremw and water in the ratio 3 : 1. She adds 250' ml of

' . 3 : 2 solution of milk and water to it and then uses
F1 A F QEF kil i:: H e fean S %I ﬁ-—l%]:T 250 ml of the\combined mixture to make curd. How
@ 39 A A fege I 9 ST o Er: muck of pureAnillcds she 1t with?

45. An empty container is filled with pure alcohol. The TF TR EE U | ofeR faerE | £ AR T
alcohf)l is slowly allovae?d to run out. and when the - 321 ¥ 250 Tel_oiiex © - M
container is 1/4 empty, it is replaced with water. Next, 1 s
when the container is half empty it is again filled with iR t":ﬁ TSI 3 2 2 = e <t 21 Al
water. Finally, when it is 3/4 empty, it is again filled fagor § 9§ 250 fael-ofieX <@ 9 &l fehe ot
with water. What percentage of container is alcohol 2 3T 99 fFraT faei-oiex S gY = 2
now? 50. Several It of acid were drawn off a 54 It vessel full of
T& @l §d1 Hl fewed § g @@ 9 R acid and an equal amount of water was added. Again
AT 21 o9 o e % SS9 9dT 1/4 @t the same volume of the mixture was drawn off and

replaced by water. As a result, the vessel contained
B T W TR WA G R e S 2R v A P e o Lo Ve cont
T @l B s T e § T W ffitn(i)tiilllriam . How much of the acid was drawn
L 0 ?
fean S €1 o7 H 59 9% 3/4 Wt g € @ sheh! Y
o 90 e O | R e S 81w H v o 54 T STl o U A F@ e A FeTe
Seree T W g T SR S € W | uE Sren T R 9 sa
. . ‘ , A 1 fasmn fepTen T ik SEE e ue sten

46. Two solutions of milk and water are kept in two ves- ¥ o o 3 3
sels A and B. The ratio of quantity of milk in vessels T eﬂ'_d. _ Zi s o !
A and B is 4 : 5 while the ratio of quantity of water in YEAM | fohe1 a1 Fhrent T/ en?
vessels A and B is 8 : 9. It is known that that the | 51. Two vessels contain spirit of 0.5 and 0.75 concentra-
concentration of milk in one of these vessels ion tions. If 2 /¢ from the first vessel and 3 /¢ from the
between 60% and 80%. What could be the concen- second vessel are mixed, then what will be the ratio
tration of milk in the other vessel? of the spirit and the water in the resultant solution?
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52.

53.

54.

5S.

56.

T = o foge 0.5 @R 0.75 71 AfE 2 et Tea
T Y ok 3 R G T @ o § fen e
ST @ " qu oo § foye iR i @ T
ST 1 B2

The contents in the beakers A and B are 90 /¢ of milk
and 90 /¢ of water respectively. Now, 30 /¢t of milk is
taken from A and put into B. After thorough mixing,

12 It of the mixture is taken from B and put into A.
Find the percentage of water in beaker A.

q A 3R B s 90 et gur @R 90 ofiex
uHt B130 e 3¢ diw A 9 et #) il B
¥ eret Y e fean S 21 fem % ) 12 ofew
fasmn B9 frobret o sk A ® 1t fian s 1
dieh AH AT T SfdeEdr J@ w2

10 /¢ of a mixture A of castrol oil and petrol contain-
ing 64% petrol, is added to 5 It of a mixture B of
castrol oil and petrol, containing 55% petrol, to get a
mixture M. Then, 30 /t of a mixture C containing
12% castrol oil is added to M. What is the percent-
age content of oil in the final mixture?

10 o, & s A § F=e 99 R 92 2
fSHH 64% e 81 5 i ® THgm B H T
eI 55% © 1 THeTRT THEY M SR ST 21 30
e & g C ¥ 12% = dd M H 1 &=
S 21 3 H W W el % dol i Fiagr
el 2it? |
Three glasses of capacity 2 /t, 5 It and 9 It contain
mixture of milk and water with milk concentrations
90%, 80% and 70% respectively. The contents of
three glasses are emptied into a large vessel. Find
the ratio of milk and water in the resultant mixture.

T fireme 5 AR 2 ofiex, 5 efet 3R 9 e
219 g9 @R url & fagw @ W g {1 5 gu
1 GFTRId 90%, 80% TR 70% 1 A aiAi & frgon
1 U T T H e A St 21 fagor § 3o eik
T T T ST TR

A vessel of capacity 2 It has 25% alcohol and another
vessel of capacity 6 /t has 40% alcohol. The total lig-
uid of 8 It is poured in a vessel of capacity 10 /¢ and

the rest part of the vessel is filled with water. What is
the concentration of alcohol in new mixture?

e o TSRt & 2 efied 21 S 25% Steshied
? R qEU o fEet el 6 wiet ¥ H 40%
IFehiedd Tl hel 8 et 59 I Tk 10 el &l
I i § ST A S € SR oA % 9w 9
T W R e S #1 @ T g § siekiwa
sl

An alloy contains only zinc and copper. One such
alloy weighing 15 gm contains zinc and copper in
the ratio of 2 : 3 by weight. If 10 gm of zinc is added
then find what amount of copper has to removed from
the alloy such that the final alloy has zinc and copper
in the ratio of 1 : 4 by weight?

57.

58.

59.

60.

61.

T fug Ui S Fae e SR SR W R,
s 15 um % uig & fago § w3 FR H
AU S oI5 B fe@E 9 2 ¢ 3 1 AR 10 IW
S 1 firen faan Sian €, @ fehaT im fag g
Y frepren WY fop ot e o i IR AW & a9
T STUM | : 4 B S

There is a 20 /t mixture of water and spirit. It con-
sists of 25% spirit. Another mixture of 30 /¢ consists
water and spirit in the ratio 3 : 7. If both are poured

into single vessel. Find the final ratio of sprit in the
new mixture.

20 WX & T g § for @i a2, fEE 25%
o 31 Th I 30 ol & fugor § foe ol uA
3 :7 % U H 21 SR A kI Th T Il g
e S, @ sg fagor o for &t AEn @ e
ALLIGATION

There are three containers A, B and C which contain
water, milk and acid respectively in equal quantities.
10% of the content of A is taken out and poured into
B. Then, the same amount from B is'transferred to C,
after'then the|same amount\from C is transferred to
A|What is the proportion of milk in container A at
the end of the process?

i T A, B 3R ¢ foad arh, 3o @R et SR
N H O E1 A H 10% T X B A e faa
STl €1 SR SaA 7T B @ kel Y C H el
ST 21 SR SHE A% St & ARn fR W C ¥
Tt X A Y i < S B o7 36 ol AH g
59 THgaa o @Rm?

Two types ofisugar of rate Rs. 5.60/kg and Rs. 6.40/kg.
What quantity of second type of | sugar should be

mixed with 20 kg of first type of sugar to get'a mix-
ture of rate Rs. 6.20/kg.

2 TR T = B T 5.60 /R 3R 6.40 T/FRT
1 gl areft 20 foRun < % we T Aol feRat
<t faems S fo fason 6t &19d 6.20 /MW B
S

Two types of rice of rate Rs. 11/kg and Rs. 21/kg. Find

the ratio of two types of rice to obtain a mixture of
rate Rs. 17/kg.

3 YR & el B Ged 11 T/REm @R 21 &/
21 2 <M e w1 fohg e W frerd Tl fso
® & 17 /MW 3 SH

600 students took a mock exam in Delhi. 55% of the
boys and 75% of the girls cleared the cut off in the
examination. If the total percentage of students quali-
fying is 63%. Find the number of boys and girls ap-
peared in the examination.

600 a=ai 1 fecett o adem 1 55% ASHl A we
3 UG &I qAl 75% AS(HRA o he AE I Dl
HA 63% Tl A He IF® UE HI ASH IR
aSfRAl T Hen Farsti?
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62.

63.

64.

65.

66.

67.

68.

A tank contains a mixture of 80 /t of milk and water. | 69.

70% of the milk and 30 % of the water are with-
drawn, therefore 55% part of the tank become empty.
Find the initial quantity of milk and water in the tank.

TF 80 X & Th H g IR g 1 fagor F
SH9 @ 70% T AR 30% g TRl fean T,
o8 ThT 559% et &1 St {1t wee | Gt o
fehaeT g9 SR ar em?

A tank contains a mixture of 70 /¢t of milk and water. 70

65% of the milk and 30 % of the water are with-
drawn. Therefore 60% part of the tank is remaining.
Find the initial quantity of milk and water in the tank.

Th 70 ofiet T HT H U SR w1 Mg 2
SO ¥ 65% 39 IR 30% T Frbrer feam s
3TH 60% fasr s=n &) df gEw § IRt § fRa g
R g er?

Rs. 43 are divided into 50 students. Each boy re-
ceive 94 paise and each girl receive 69 paise. How
many boys and girls are present in the class?

50 W=dl W 43 & Wi T g & 94T .

el en, vl gl i 69 U9 fiel qt wen #
o g -aTgiehal ©2
Rs! 41 are\divided|into 50 students! Each boy|re-

ceives 90 paise and each girl receives 65 paise. How
many boys and girls are present in the class?

50 Tl | 41 %, A T TAF ASH H 90 T 7 |

oIk TISHl H 65 UH fHell A wem # fwad 72

ASh-ASHA 7 |
A bottle of whisky contains 42% alcohol. Some part
of this bottle is replaced by another bottle of whisky
which contains 17% alcohol. Now this mixture con-
tains 27% alcohol. Which part of bottle has been re-
placed?

T foehl &1 diqd § 42% ohied &l a1 SEH

9 %z fewm fiwast IqHl 17% Tehed am | 73.

faeh 9 o= fea o9 39 fHgv | 27% stehed
B faent w1 fRa e frewmen on?

A bottle of whisky contains 40% alcohol. Some part
of this bottle is replaced by another bottle of whisky
which contains 19% alcohol. Now this mixture con-
tains 26% alcohol. Which part of bottle has been re-
placed?

T faent ®1 Siqa | 40% Tehied ¢ oo SHE @
F5 fem et ITH! 19% Teehisd ol faeent
T o3 fean o 39 fasm § 26% siehiedt g1 @
foreeht =1 feher fewen aigen o o

We bought 100 kg rice. Some quantity of them is
sold at 8% profit and some is sold at 18% profit.

Therefore overall profit is 14%. Find the quantity of | 74.

rice of both part.

B 100 o =@ TRl 399 | o 9\ d 8%
AT W JAq FHD 18% N R o9 A W i+ 9
FHA 14% H A9 gl fora-fohad =@ o= T

Radha bought a plot amounting Rs. 96000. She sold
the one third part at 10% loss. At what percent of
profit should the remaining part be sold so that over-
all profit would be 20% ?

T A 96000 & T Th Wi BRI 3T A |
m%ﬂmm%aﬁméaﬁmlaﬁgﬁ%@raﬁ

fRaT % o9 W 9= % H/A 20% H1 @49 B2

A man sold a buffalo and a cow for Rs. 2600. He
sold the buffalo at a profit of 25% and the cow at a
profit of 20%. In this way, his total profit was

23%% . Find the cost price of the buffalo and cow.

Tk A A 2600 T H TH 9 AR T MH 59
¥ W I 25% HT A I R MT W 20%

9 g3 FA ot 39 23%%3'7[ q g3
&g T T KT S-S HIHA FT A2

The average salary of all employees,of a company is
Rs. 5000. The average/salary of male is Rs. 5200
and the average salary/ of female is Rs. 4200. How
much percentage of male are in the company?

T HO H Bl HEERE ® S Ed a99 5000 .
21| TE 1 I A 5200 ®) © AR HiEesi w
Igd AT 4200 % T FEN H foRad % gET 272

Gold is 19 times heavier than water. Copper is 9 times
heavier than water. In which ratio gold and copper
should be mixed so that mixture is 15 times heavier
than water ?

G, A W19 T 9 @) SR e, O ®) 9 T
it 1 3okl | TR | A (W foerEn St R fason
I | 15 A AR OED

A liquid P is 1% times heavier than water. Water is

12 times heavier than another liquid Q. How many
5

litres of liquid P should be mixed with the 21 /¢ of
liquid Q, so that the weight of mixture is equal to
water?

T %9 P, U T g 1% T R {1 I T

{HiﬁQaﬁwﬁl%wmﬂ%‘lmﬁaﬁaP
% W 21 It Q Toad, f& fagor &1 a5 o+ &

ERCIE IS DY

450 toys are divided into three types A, B & C. All
three types of toys are sold at the profit of 9%, 10%
and 12% respectively. Overall profit from type A and

Bis 9%% . Overall profit from all three types is 10%.
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75.

76.

71.

78.

79.

80.

Find the number of toys kept in all three categories
A,B&C.

450 el 1 @ ¥R ¥ A, B, CH sier T 2
T THR B faed w1 FET: 9%, 10%, 12% B

T TR =1 TN A SR B HA 9%%35[?11‘317@’311

A < YHR % fadEl § 10% 1wl A9 gl
A,B,C ¥ Tra-feran faeid @ 7T &7?

The ratio of weight of Ram and Shyam is 4 : 5. The
weight of Ram is increased by 10%. Total weight of
Ram and Shyam is increased by 82.5 kg. The per-
centage of increment in total weight is 15 %. Find
the percent change in weight of Shyam.

[ AR YA F OGS BT SAE 4 : 5 B TH H
TS 10% 9 TN R/l a9 I HT 82.5 W €
TN H/A TS H 15% 1 gl g3l A TAH H q9H
fra % w@r?

Rs. 960 is received as an interest in 5 years at
Rs. 3600, while some part of it is given on 4% rate
and remaining part is given at 6% rate. Find both
part.

3600 %. 5 9 &% fad =9 W &3 @ 960 % =
el weet\4% X W T q90 /B 6% X W fe,
TRt fRa-forad T09 39l & 972

There are deers and ducks'in a zoo. If heads/are
counted then there are 180 total and if legs are |

counted then there are 448 total. Find the number of
deers and ducks.

% fafearr ® fexd iRk s 21 9k s s fw fd
S A 180 % W W M W @t 448 ¥ o sod
forae fett iR s 27

There are pigeons and rabbits in a zoo. If heads are
counted then there are 90 total and if legs are counted

then there are 224 total. Find the number of pigeon
and rabbits.

T fafgarR # 9 Fam IR T 21 AfE =
ol =1 i S o et 90 ® R W AH W @
224 ¥ T FeER 9 TN 2?2

Two vessels contain mixture of milk and water in the
ratio of 1 : 3 and 3 : 5. Find the ratio in which these

are to be mixed to get a new mixture in which the
ratio of milk to water is 1 : 2.

i H o SR g kT e 1 23 @R 3 ;S
21 2 Wl b g B R S o v,
ff o 1 : 2 = WY

Two vessels contain mixture of milk and water in the
ratio of 7 : 22 and 21 : 37. Find the ratio in which

these are to be mixed to get a new mixture in which
the ratio of milk to water is 25 : 62.

2 o gu SR U T eaE 7 ;22 3R 21 : 37
21 27 2 o B s & fRE s o e,
foh oTqU@ 25 : 62 B M7

81.

82.

83.

84.

85.

86.

87.

Two vessels contain milk and water in the ratio of
3:5and 11 : 5. What quantity of second mixture is
to be mixed with 65 /¢ of first mixture to get a new
mixture in which the ratio of milk to wateris 5 : 7.

2 S H g SR U BT ST 3 2 5 S 11 ¢ S
21 TEd At O & 65 i h @ A g
& fhdd o & @ foad fF g iR o @
S 5 : 7 B W7

A man purchased three types of wheat. Cost of 1st, 2nd
and 3rd type of wheat are Rs. 1.27 /kg, Rs. 1.29 /kg and

Rs. 1.32 /kg respectively. In which ratio are these
mixed so that cost of mixture is Rs. 1.30 kg.

T ARH F WE & e @i H AR 1 TES H
1.27 &./f%%, T &I 1.29 &/fRM qe0 TR A 1.
32 %./fR W TR 1 SH fRE U § frerd
f& s &1 ®9a 1.30 T/fm 3 S[?

Two vessels contain milk and water in the ratio of
1:3and 2 : 5. Find the ratio in which these are to be

mixed to get a new mixture in which the ratio of milk
to water is 3: 8.

F adHl  ge SR g T STu b 3 @2 ;S
21 391 T orqud § freran @ RS9 @ o
g9 AR U 1 ST 3 : § B W2

The ratio of Boys and Gitls is\5 : 3. Some students
took admission in the ratio 5 : 7\ Now total students

are 1200 and ratio becomes 7 : 5. Find the number of
students before admission.

e 3R ASfRdl F1 SUE 5 : 3 T FKD A
5 :7 % 9 | MGe oid 1 37 Fel g=4 1200
2| R ST U 7 ¢ 5 @ T qfEe ¥ T
fa I=a 9?2

There,are two rings of Gold weighing 18 gm and
12 gm. In both rings purityof goldis 20 caratand 15

carat respectively. Both are melted to make a new
ring then find the purity of gold in that ring.

T HT I SAE 18 UMW A 12 U T} S e
T GG 20 HE I 15 B 21 A 1 AR T
IR SR ST © ol SHE G Rl ggar @ eri?
There are 510 average number of people on Sunday
and 240 on remaining days of week in a market. This

months having 30 days and starts with Sunday. Find
the average of people of each day.

T SR | oAl &1 ed Ged, faar & &
510, 9wE & a1t 57 | 240 31 W 30 &A
? @R MO @ y& ? 9 yow A At #
e Hem #4 giit?

A person travelled 80 km in 8 hours partly by cycle
and partly on foot. Speed of cycle is 16 km/h and

speed on foot is 8 km/hr. Find the distance travelled
by cycle and travelled on foot.

Teh e 80 ferdt T g 8 WS H 79 e & Foraw
FP TEfRd W T H7 Ul WEfkd &1 T 16
feptfi/siar € ok U<t 1 i 8 fepedi/sien €1 at s&t
wEfEe W oiR e e e e 0 @
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88. A person travelled 61 km in 9 hours partly by cycle A=l B 39 & 98 37.5% <hl Y kATl Bl UEH
and parFlyon foot. Speed of (T‘ycle is 9 km/h and speed T W Y SR T T FIIE N 2m?
on foot is 4 km/hr. Find the distance travelled by cycle 9 bottles A and i1 diluted sulohuric acid
and travelled on foot. S. ;Fv&g) tti)ttAesth and B (i[onftamt 1 .uts sbul pthurlc acl t
o , n bottle A, the amount of water is double the amoun
e STSHT 61 Eal E'-\ﬂ 9 53 ¥ 7 e of acid. While in bottle B, the amount of acid is 3
®F HElRA ° 9 FD e Afz e 1 times that of water. How much mixture should be taken
9 ferei/siar @I et &1 T 4 ferei/siar €1 @ SER from each bottle in order to prepare 5 It of diluted
TEfFa ¥ IR Ued fehan-frat i T &2 sulphuric acid containing equal amount of acid and
89. A person travelled 270 km in 9 hours partly by car water?
and partly by train. Speed of car is 36 km/h and speed 3 die A 3R B 9% e 37 ¥ W 2 d
by train is 27 km/hr. Find the distance travelled by AT U & TR ST i A 9 HERSEICT
car and travelled by train. . . dact BH v 1 AEN UM @ W § 2
T St 270 TR gl 9 R H o e @ for o g YdE dad 9 R S St 5 efel
FP FR T T FB @AW HOFR A W 36 U WeRfeh el o R el SR qE el
fertfisiar ol et ®1 T 27 fRdvee @1 sE L . .
: 96. 2 It Bournvita drinks contain 236 calories and 2 /¢ of
PR T YT W foh-fopa et E«ﬁ T N2 complan drinks contain 166 calories. If one mixture
90. A dishonest milkman buy some milk at Rs. 10 //t and of both the drinks contain 88 calories, then the per-
mixed 5 /t water to this milk and then sold it centage of Bournvita drink in the mixture is:
Rs. 10 /It and gains 20 % profit. Find the quantity of 2 o S U9 236 S @R 2 wfier FEdt
milk that he bought. ) .
o S e 1 % e (o e < T\ 66 HeRl T Tl AR TH A § I AT 88
$ st S 5 ciew Tt firl s S ik fet S FHlh TEd 21 o fasr | siAfaer i ghigaar
7
10/%./cfeR & S R € IR, 3H 209 BT A Bl A
2 @ s fRa T WA o 97. There are two alloys made up of copper and alumi-
91. A dishonest milkman buy 40 /# milk at Rs. 193 /It R 10 Q'Y coPPeRgell qgguch as alu-
and mixed some water to this milk and then sold it minum and m the second alloy copper s thrice as
Rs. 193 /It and gains 25 % profit. Find the quantity much as aluminum. How many times the second al-
of water that he mixed. | loy must be mixed with first alloy to get the new al-
TH FHA T 40 wfR T 193 B/eAIR THT WY loy in which copper is twice as much as aluminum?
T 1 SHE FRAT U O S 193 ®/AR W fag o1g\ S R iR TeafmtEm og 9 o 2
& o fF 25% 1 @ @Y ool Ty uIg o HIW, TegfatEg &1 amen 1 sk
92. A dishonest milkman buy some milk at Rs. 10 /It and @i fag ug o SR, Tegdtad &1 o 21
mixed 5 I/t water to this milk and then sold it [ExEIRE aﬁi fag umg %l TEd Ty g H faarn
Rs. 12 /It and gains 30 % profit. Find the quantity of foF i fasem ¥ FIR T g B
milk that he bought. xl '
AIAE A 10 T/ § H/D 3 @R W
b 3 sk i ¥ 5 ooy Tt el %n s_\ S 98. A person buys two watches for Rs. 1,000. He sells
et 3 ! 12 one at a loss of 5% and the other at 20% gain and on
%/l W SE ® A W 30% H AW w2 A the whole he gains Rs. 50. Find the cost price of each
39 fohaT g9 @l om? watch.
93. A jiSh'OHZSt milkman buy }1121 lfur(nilkdathRs. l(l)d/{t Toh Al & qgj 1000 & ® @a<dr %| % TH =
and mixed some water to this milk and then sold 1t o 0 T
Rs. 11 /It and gains 20 % profit. Find the quantity of 5% B R MR EE}\ I 20% gT‘l-Ta?I . %ﬁ @‘ﬁir T}
water that he mixed. W 50 % AH 5 . ' Rl SR
T A A 121 e 9w w2 S-S F T T L
TSt Mg 10 B/ 1 S99 T art fgomd | 99- A man borrows a total sum of Rs. 10,000 from two
. 0, 0,
iR ST 11 B/ § 3T R R S 20% T a1 sources. To one‘he pays 10% and to the other 5 A) per
o annum simple interest. If the total interest paid by
’ him is Rs. 700. How much did he borrow at each rate
94. A milkman pays Rs. 6.4 /It of milk. He adds water of interest?
and sells the mixture at Rs. 8 //t. thereby making 2
37.5% profit. Find the ratio of the water to that of hid 10000 % T F SUR A ¢ T F
the milk received by the customers. 10% 3R '{Fﬁ 1 5% SF FHRT A Bl R
T T 6.4 TR A R A 39 @ 3 T S ST A | IR 36 5 HA 700 %, A T
T fremr ¥ sk fasw w8 w/efieR oW W @ I TE R W fha-frad ¥ 3uR fod &2
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100. The expenditure and savings of an employee are in
the ratio 3 : 1. His income increases by 16% but at
the same time his expenditure also increases by 20%.
Find increase or decrease in his savings.

Th HHEN & WE AR &=d h1 SAE 3 ¢ 1 R
IR ITH! AE 16% 98 S AR SHH TH 20%
qE ST q IHH! TEI gE AT Tl gE F9d 7 Y

101. The average daily wages of staff, consisting of su-

pervisors and labourers, of a company is Rs. 50. The
average wages of supervisors is Rs. 150, while that
of labourers is Rs. 40 per day. If the number of su-
pervisors is 15, find the number of labourers in the
company.
Toh Ul & W YA 3R TR & Wl
Ed IqT 50 & 1 GRAESR 1 A ok 150 &,
S SR k1 S ddd 40 & 1 AR
YRAESH 1 G&A1 15 § d el Tolgk 1 &
FY?

102. A shopkeeper blends 2 kinds of sugar of price
Rs. 33/kg and Rs. 24/kg in-the ratio 2 : 1. If the ratio
of two types of sugar is changed to 1 : 2. How much
will the shopkeeper save in blending 100 kg?

T THHRR & TRE FHT = SR God 33 &/ 3iR
24 B/fFWM R B2 ¢ 1 % A § e €1 A 5
T TR HT <A BT A 14 2 BT S A o
THMRR 100 T 1 A W fhad 9 o= om?

103. Two alloys contain iron and lead in the ratio of

4 :3 and 1 : 6 respectively. 7 kg of the first alloy, 14
kg of the second alloy and some amount of pure iron
are mixed to from a new alloy. The resultant alloy
has iron and lead in the ratio of 1 : 1. Find the weight
of the resultant alloy.
) fag Ui # WR SR 9 1 SIud wEel: 4 : 3
AR 1 : 67 Teed H G 7 R SR g @ 14 FEm
bl FX 3IR STH % Yg el o T iR
3= THeme we - fag urg semen T e | R
AR SitSl 1 SUE 1 : 1 @) A stfww g e e
S A BAM?

104. In an alloy, zinc and copper are in the ratio 3 : 1. In

the second alloy the same elements are in the ratio 4
: 5. In what ratio should these two alloys be mixed to
form a new alloy in which the two elements are in
ratio 7 : 3?
s g O fad s IR BT 1 U@ 3 : 1 2
T T g O §HE a1 S U 4 ¢
5 21 T fag oig 1 fohg oUW ¥ fiemen ST fw
T o fag g 7 ¢ 3 % IFgUE H B2

105. A milkman has two types of milk. In the first con-
tainer the percentage of milk is 80% and in the sec-
ond container the percentage of milk is 60%. If he
mixes 28 I/t of milk from the first container and the
32 It of milk from the second container, then the per-
centage of milk in the mixture is :

106.

107.

| 108.

109.

110.

Th I Ol & T I YRR H I ¢ Tod e o
T T ST 80% 7 3R T o= o g0 1 |l
60% B A 9% Tt fesd ® @ 28 wfieX gu Fekrem
IR TR fess § 9 32 ofieX 3 Fekrenm iR 37 3
w1 foen feon @@ T fagw 9 g9 1 WA R/
=it ?

A milkman has 20 /t of milk. If he mixes 5 /t of water,
which is freely available, in 20 /¢ of pure milk. If the
cost of pure milk is Rs. 18 per litre, then what is the
profit of the milkman? When he sells all the mixture
at cost price is :

TF T 9 & U 20 oA I T AR 9% 5 A
ot fien g1 @ e T €9 9 20 WX O g
2 aft Yg g9 1 Fa 18 T AR B Al 39 g
el H A9 [@ HA, T a8 HR Ao A osH
FIHA W = B

The diluted alcohol contains only 8 /¢ of alcohol and
the rest is water. A new mixture in which concentra-
tion of alcohol is 30%, is to be formed by replacing
diluted alcohol. How many /¢ of mixture shall'be re-
placed with pure alcohol if there was'initially 32 /¢ of
water in the mixture?

TH TR, SAewied §/ 8 e} sicwied & q Wy
AT B Teh A THgu T Siohied i AT 30%
€ 9% WX Aehied o a<a oY) S T 81 TR
X fagmr & gg oIokled W S_al 9@ Afg
yEeTd | fagor & " 32 offex oft?

Meera bought two varieties of tea, first at Rs. 80 /kg
and second at Rs. 120 /kg. She mixed both varieties
and sold the mixture at Rs. 121 /kg making a profit
of 10%. In what ratio did mix the two varieties of
tea?

T T TWE I I WA & Teel Bl 80 &./fRW
3R TR B 120 T/FRUN @@ G w e A 7
3R 38 fagor #1121 &/FFM W S SR 10%
F 9 FAC BN IE W KT A B O H
I 2?2

In 6 /¢t mixture of spirit and water there is 15% water.
In this mixture 4 /¢ of another mixture contains 10%
water is mixed. After this 1.5 /¢ of spirit and 0.5 /¢ of
water is mixed in this mixture. Find the percentage
of water in the final mixture.

foge IR a1 faggor 6 oftet & forad 15% e 21
7 fagor # 4 wiex guw fasor faen fean s @
S| 10% o} TR AR 1.5 A for @ik
0.5 e ot ® =@ Ao | faemn s @ @
sifem fagor o et ) wfqerdar s gei?

Two bottles A and B are filled with dilute sulphuric
acid (sulphuric acid + water). In bottle A, water is
40% of the acid and in bottle B, acid is 60% of the
water. How much mixture should we take from each
bottle respectively to make 190 /¢ dilute sulphuric
acid containing half acid and half water?
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111.

112.

113.

3 daet A 3R B GewgRe ot iR Ut o ol g
Tl Siqa AT TR 40% B 3T I, et BH o
60% © AT 1l ek Siae | feman fasor fern
S fSeE 190 el GerieE o &1 aaa |
T 3T 3R S U Y

In an alloy 80% is copper and remaining is tin. In
another alloy, copper is 85% and tin is 12%. In what
ratio should the two alloys be mixed so that the new
mixture must have 15% tin. Also find the percentage
of copper in the new mixture.

e faseng o 80% HIR AR v fo B ww @
fasgeng  85% W 3 12% & B1 7 S fagy
Tq3Tl 1 ST N B =1feq foh T3 fagor 9 15%
feq =1 qon 7@ ot v W R W fagm | S
fera wfeerd 22

An article of jewellery of 35 gram made up of gold
and silver and cost of the article is Rs. 13440. If the
weight of gold and silver is interchanged then the
cost of the article becomes Rs. 9660. If the cost of
gold per gram be Rs. 540, find per gram cost ofisil-
ver. Also find the weight of each gold and silver in
the jewellery.

T 35 UM HT AT S GH AR = e
o ® 3R SH o HT A 13440 T B AR WA
R =L & a5 kI A9E § 55l KA a9 g% B
FIT 9660 & B S €1 A | FT Ff 7 Fd |
540 . = @ =<t 1 9 AH FIAG A1 B ST
H 9@ iR =it 1 oo oft J[ wA

An article is made of two metals and its weight is 150
gram and the cost of the article is Rs. 570. If the weight
of two metals in the article is interchanged then the
cost of the article becomes Rs. 480. If per gram cost
of metals is in the ratio 4 : 3. Find the weight of each
metal.

T a%G W g o et o ® SR SHehT aeH
150 wE & 3R o i HEd 570 T B ARG I
ogetl & o5 i TE H S5 fg@ S © ot
I HT FAT 480 . T S 21 AR WA AW g
T HIAG BT STIAA 4 : 3 T q Uik ©1q HT Io
EIGECEY!

114.

115.

116.

117.

In three alloys A, B and C the percentage of copper
is 80%, 75% and 70% respectively and the percent-
age of tin is 15%, 15% and 25% respectively and the
remaining is nickel. If 10 kg, 15 kg and 50 kg of the
three alloys be mixed together, find the ratio of cop-
per, tin and nickel in the mixture thus obtained.

i fasgeng A, B @R C § I &1 Fiaewd hasl:
80%, 75% 3R 70% T SR fo &1 wfeerdar swwe:
15%, 15% 3R 25% & 3R 3 fAfher 21 ik A fasge
gett % 10 TR, 15 fRm @R 50 fepn i euE
firen fan <& ot fagor & &iw, o iR ffrat w1
HIIC @ HL

In a vessel two medicine A and B are in the ratio
4:1.10 /¢t of mixture is taken out and replaced with 10
It of medicine B and the ratio of A and B thus becomes
2 : 3. Find the initial quantity of medicine A.

Th o H X TAE A SR B AU 4 : | R
fasr & 9 10 ot st frekretr o € SR ST 10
X o B % WY 9% < & fEE A SR B
UM 2 : 3.2 Wl €, 1 SO A H YRS ;G
@ H

A tank was full of pure¢ milk, Half of milk was sold
and thenthe tank was refilled'with water. Again half
ofmilk (mixture) was sold and the tank was refilled
with water and now for the third time half of milk
was sold and tank was refilled with water. In the last
what will be the percentage of milk?

TH I Yg 39 Y G W I 2| N g4 39 |
a9 fen @R 3% Wl U W o fEEn geam emen gy
(fasmr) /o s feam SiR 36 1 O | R fem SR
3 38/ dIEd SR off a1 g 1 9 T siRdE
ot & R R @ $id § g 1 fasiaar 9 B
Ajar contains a mixture of two liquids A and B in the
ratio 3 : 1. When 15 /¢ of the mixture is taken out and
9 It of liquid B is poured into the jar, the ratio be-
comes 3 : 4. How many /¢ of liquid A was contained
in the jar?

T dqd § I g9 A R B & L0 1 U@
3 :1 % W& 15 Wi fagor 1 AR feren s @
3R 9 offiex g9 B I et fean i @ al a3
4 T ST ¥, @ Sda H fRde ot 59 A o
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1.151 2.15 1t
6.21 1t 7.36.75 It
11. 64 12.28 It
16 1 17 2
°5 ‘11
21. 144 It 22.361 : 39
26.45 It 27.36 1t
31.24 1t 32.43:47
36. 125 : 57 37.169 : 131
1
41. — 42.3:6:8
8
46.
48. 12.5% 49, 720 ml
53.21% 54.121:39
1
58, — 59. 60 kg
121

63. M—20 It, W—50 It

66

71
76
79

84.

89
93
94
99

10

10

3 P
°5 "3
. 80% 72.3:2
. Rs. 1200, Rs. 2400
.1:2 80.13: 8
960 85. 18 carat
. C—108 km, T—162 km
N/
.1:10 95.31t,21t
. Rs. 4000, Rs. 6000
3.30 kg 104. 46 : 9
8.1:3 109. 15%

3.5:8
8.3151t

13. 116 It

18L
" 16

23.171:29
28.2 1t
33.97: 167
38. 24%

43.20.25 It

50. 18 It
55.29%

60.2:3

ANSWER KEY

4.5:7
9. 169 It

14. 1440 It

19L
15

24.2907 : 1093
29. 170 kg
34.34: 43
39,121,811, 7 It

44. 14 : 31

Concentration of milk in A is between 57.44% and 78.26%

51.13:7
56. 5 gm

61. Boys= 360, Girls =240

64. Boys — 34, Girls > 16

68. 40 kg, 60 kg

73.14 It

69. 35%

5.23:14
10. 24 It

15, -
"3

20. 380.25 It

25.27:23
30.2 It

35.5:7
40.410t,51t,9 1t

45.92%
8

47. 33%%

52. 12.5%
57. 28%

62. M—50 It, W—30 It
65. Boys — 34, Girls — 16

70. B>Rs. 1600, C—Rs. 1000

74. A—>200,/B—150, C—=100 75: 19%

77. Deer—44, Duck—136

81.10 /t
86. 285
90. 25 It

96. 14.28%
100. 4%

1
105. 695%

110. 70 It, 120 It

112. Rs. 120; Gold—>22 gm, Silver—13 gm

11

5.16 1t 116. 12.5%

1
117. 201t
4

82.1:1:2
87. C—32 km, F—48 km
91.10 It

97.1:4
101. 150

106. 25%

111.3:5
113. 120 gm, 30 gm

78. P—68, R—22
83.4:7

88. C—45 km, F—16 km
92. 60 It

98. Rs. 600, Rs. 400
102. Rs. 300

2
L 2—1t
107 15

114.217 : 65 : 18
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